Addition Horizontale de Décimaux (F)

Calculez chaque somme.

42,61 + 23,63 = 91,51 + 21,74 =
30,19 + 2,83 = 48,54 1,82 =
5.3+2,6 = 12,70 + 5,37 =
6,99 + 3,8 = 770414 =
TAT+ 8,5 = 70,84 + 51,87 =
85,88 + 36,30 = 70,51 + 62,24 =
452 49,3 = 84+54=
48,22 4+ 37,8 = 7,69 +2,2 =
6,25 + 5,71 = 7.80 + 1,68 =
52,76 + 17,2 = 92+32=
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Addition Horizontale de Décimaux (F) Réponses

42,61 + 23,63 = 66,24

30,19 + 2,83 = 33,02

534+26="709

6,99 + 3,8 = 10,79

74,7+ 8,5 = 83,2

85,88 + 36,30 = 122,18

45,2 4+9,3 = 54,5

48,22 + 37,8 = 86,02

6,25+ 571 = 11,96

52,76 + 17,2 = 69,96

Calculez chaque somme.

91,51 + 21,74 = 113,25

48,5 + 1,82 = 50,32

12,70 + 5,37 = 18,07

770+1,4=9,1

70,84 + 51,87 = 122,71

70,51 + 62,24 = 132,75

84+54=138

7,69 42,2 = 9.89

7,80 + 1,68 = 9,48

92+32=124

MathsLibres.com




